Answer on Question #75575 — Math — Algebra
Question
What is 5 plus 3?
Solution

So, the “plus” word, denoted as “+” sign, is an operator which is used for “Addition”
operation. This operation contains three elements:

Term + Term = Sum

Terms are also called addends or summands. In our example, first term is “5”, second
term is “3” and, together, they form an “8” sum. So, “addition” means that we combine
two group of elements together, into one, bigger group.

So the straightforward solution would look like this:
54+3=8

Let’s visualize this example. We will use apples for this:
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(8 apples, one, bigger group)!
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